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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| T2 (BB
Pl es
= 1 139, 681, 320
T
= 1 9,607, 797
T (ICT)
m3 10, 700 9,607, 797
PR (BEER) % 1 (ICT) JE TIEE 4. ombL I [EEssE
= 1 2,479, 190
FEA (V-27) IRA T 150, 000m3AHE
= 1 2, 588, 250
i S RE T
= 1 2, 190, 097
i S RE T
= 1 2, 350, 260
TE&RT
= 1 23, 386, 238
TRNEAALER T
= 1 23, 386, 238
THRA 2FERA
m3 6, 600 1,041 6, 870, 600
i S T Cadl- ERiRY L&)
= 1 2, 058, 258
R (SR T Cadl- ERiRY L&)
= 1 1, 952, 280
R ALER AR - BEE 1 £2100mm%
z25
m3 5, 780 1,870 10, 808, 600
A (-17) +wp 1850, 000m3 AT
= 1 1, 696, 500
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & T2 (BB
FRE S T
= 1 95, 238, 838
AR[E 87 ny) T
= 1 28, 447, 612
VAR E 7" ny ) R St (=R ny))
& 414 61, 590 25, 498, 260
FRED T ny4Est SR (=R iy - SR - 7Kk B
)
& 320 2,571 822, 720
RED T ny st SR (=R iy - SR KPR
)
& 94 4, 258 400, 252
VAR E D7 vy JFHA R St (=R ny))
& 414 2,245 929, 430
THIARE D7 wy ) iE St (=R ny))
& 414 1,925 796, 950
Wit En L
= 1 35, 820, 066
WEEEA AR - PR 2t (RHMERETY) PEsHvE R &
Ees 1,798 19, 002 34, 165, 596
WEEE AR 2t i
Ees 279 5, 930 1, 654, 470
AT
= 1 30, 971, 160
B 0. 9tL2L E/# ( ¢ 85cmPN4t)
m3 880 31, 763 27,951, 440
FmEHL 7K LB
m2 1,020 1,525 1, 555, 500
FHL L K
m2 190 4,018 763, 420
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
W% H U RS R4S t=10mm
m2 730 960 700, 800
HEE L
= 1 2,020, 797
WEEEAMET
= 1 2,020, 797
WEEEAME 2t PRI R E
£ 279 7,243 2,020, 797
Gan
= 1 9, 427, 650
1R IE T
= 1 4, 021, 800
V5V IET A e 7n—b ¢ 300 H=1.0m 100024 |
20005K4i#  (N/3cm)
= 1 4, 021, 800
RmE T
= 1 5, 405, 850
AW B
= 1 5, 405, 850
B TR
= 1 139, 681, 320
B SElTE:
= 1 16, 377, 991
IR
= 1 6, 669, 116
TR
= 1 4,770, 533
R R R
= 1 3,715, 742
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TR o WAL ST 2
= 1 1, 054, 791
el E
= 1 122,772
F T E et
= 1 122,772
et By
= 1 505, 267
VAT (ICT)
= 1 505, 267
BIGmEsET (K30
= 1 1, 270, 544
HIBGERE (FE L)
= 1 9, 708, 875
Wi
= 1 156, 059, 311
B
= 1 36, 833, 794
TG
= 1 192, 893, 105
— R
= 1 29, 986, 895
TS
= 1 222, 880, 000
THEBLFH Y %H
= 1 22, 288, 000
TH#&G
= 1 245, 168, 000
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